Miss Hughes group —

7a. Asha has _8_of a pie.
10
She gives Tia two-twentieths of the pie.

How many tenths does she have left?

PS

7b. Alonzo has % of a pizza.
He gives Dani six-sixteenths of it.

How many eighths does he have left?

8a. Is Georgie correct?

— 4 9
s | subtract — from — .
- 10 10
Alice has 4 .
20
| have more than Alice.
Georgie
Explain why.

8b. Is Anton correct?

| subtract — 7 from —=< 12 .
';.;. 12
e Hari has - ]
2
| have more than Hari.
Anton
Explain why.

9a. Choose fractions to make the part
whole model correct.

L 8 31 |2
10 10 10 10

9b. Choose fractions to make the part
whole model correct.

2 5 1 7

8 8 8 8




